Minusrechnen (bis 20 000)

Subtrahieren

Aufgabe 1 Aufgabe 2

1. 809 - 4313 = 1. 8056 - 7026 =
2. 17689 - 11800 = 2. 17733 - 17037 =
3. 17767 - 12473 = 3. 18032 - 2487 =
4. 12867 - 12772 = 4. 18853 - 13334 =
5 6645 - 4880 = 5 18148 - 5458 =
6. 10849 - 9921 = 6. 19389 - 18104 =
7. 19350 - 4856 = 7. 7492 - 2833 =
8. 11761 - 5124 = 8. 7840 - 3400 =
9. 17356 - 6494 = 9. 5909 - 2635 =
10, 6542 - 4741 = 0. 6802 - 2730 =
Aufgabe 3 Aufgabe 4

1. 10642 - 4659 = 1. 7756 - 6626 =
2. 18927 - 3755 = 2. 4218 - 3109 =
3. 16894 - 15386 = 3. 9918 - 6002 =
4. 19204 - 6154 = 4. 18433 - 3081 =
5 13094 - 12053 = 5 6786 - 5658 =
6. 18523 - 2260 = 6. 13790 - 7564 =
7.0 19964 - 17 674 = 7. 17473 - 14 660 =
8. 5504 - 5420 = 8. 16228 - 10307 =
9. 17442 - 11905 = 9. 19107 - 4664 =
10, 18218 - 17626 = 10. 18338 - 11718 =
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Minusrechnen (bis 20 000) | ANTWORTEN

©
Qe

Subtrahieren

Aufgabe 1 Aufgabe 2

1. 8096 - 4313 = 3783 1. 8056 - 7026 = 1030
2. 17689 - 11800 = 5 889 2. 17733 - 17037 = 696
3. 17767 - 12473 = 5 294 3. 18032 - 2487 = 15 545
4. 12867 - 12772 = 95 4. 18853 - 13334 = 5519
5 6645 - 4880 = 1765 5 18148 - 5458 = 12 690
6. 10849 - 9921 = 928 6. 19389 - 18104 = 1285
7. 19350 - 4856 = 14 494 7. 7492 - 2833 = 4 659
8 11761 - 5124 = 6 637 8. 7840 - 3400 = 4 440
9. 17356 - 6494 = 10 862 9. 5909 - 2635 = 3 274
10, 6542 - 4741 = 1 801 0. 6802 - 2730 = 4 072
Aufgabe 3 Aufgabe 4

1. 10642 - 4659 = 5983 1. 7756 - 6626 = 1130
2. 18927 - 3755 = 15 172 2. 4218 - 3109 = 1109
3. 16894 - 15386 = 1508 3. 9918 - 6002 = 3916
4. 19204 - 6154 = 13 050 4. 18433 - 3081 = 15 352
5 13094 - 12053 = 1 041 5 6786 - 5658 = 1128
6. 18523 - 2260 = 16 263 6. 13790 - 7564 = 6 226
7.0 19964 - 17 674 = 2 290 7. 17473 - 14 660 = 2 813
8. 5504 - 5420 = 84 8. 16228 - 10307 = 5 921
9. 17442 - 11905 = 5 537 9. 19107 - 4664 = 14 443
0. 18218 - 17626 = 592 10. 18338 - 11718 = 6 620
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